3. Sequential Algorithms for
multiplication and division

fast multiplier : 62
fast divider:  7%&




— Sequential multiplier
o multiplier X = x,,_; X, ,..-Xq
multiplicand A =a,,a,,...a,
e sequential algorithm for multiplication

p(o) =0

pUh = (p0 + x; A) 2+ j=0,1,...,n-2
k-1

p(n-l) — (é) X 2i-n+1)A Shift ight

¢ Foperand7t 25 k== M (X, ,=4a,,=0)

Z U =201p0D =xA
o 29| A7|= (2n-2) bits, ¥ 55 E 85104 (2n-1) bits
¢ signed-magnitude =l A% : £ Sbit Hx ALt



+ 2’s complementL} 1’s complementQ! 4%

multiplicand A7} S

O|7:|°

TEST o e

multiplier X7} 852l &<

0

+ multiplicand A.J =T

rO

45 ¢ gue[s5at s

A 1011 -5
X x 0011 X 3
p® 0000
X,=1 add A 1011
1011

shift 11011
X,=1 add A 1011

110001
shift 110001
X,=0 shift 1110001

X5 sign bit: nop
shift left 3 bits

1110001 -15



o X<0 ¢ f (2’s complement) .
X =-X,2"1 + X, where X = golxizi
multiplier2| sign bitE | 2| 5HH
U= XA = (X+ X, _,21)A

= XA + A x,, ;2"

YA = U @/ Correction step Is required
o.o - ~ Xn_l )

A 1011 5

X x 1101 X -3
X,=1 add A 1101
shift 11011
X,=0 shift 111011
X,=1 add A 1011
100111
shift 1100111
X3=1 correct step:add -A 0101
0001111

shift left 3 bits 0001111§ 15



o X< 0 O (1°s complement) i
X =-X,,(2"1-1) + X, where X = Xx;2
=0
. XA=U-Ax, 2"t +x,,A

A 0101 5
X X 1100 X -3
X3=1 p@ = A 0101
X,=0 shift 00101
X,=0 shift 000101
X,=1 add A 0101
011001
shift 0011001
X,=1 correct step:add A 1011111
1110000

shift left 3 bits 1110000 -15



— Sequential division

o SESH 2|}

eodividend X, divisor D, quotient Q, remainder R
X=QD+RwithR<D

¢ M X,D,Q,R 25 == JIH
X: 2n-bit register
D,Q,R: n-bit register

¢Q <271 0]|7| &350 X< 21D
O] =42 PHE35IX| 22 ™ preshifting0| H

D=0 = divide by zero flag




+X,D,Q,R 25 fraction2 2 sl A & mf 22| S0|
Chal

X <D : overflow condition
Q=0.q;...q,

e repeat subtractions and shifts

¢ , = -HHX| 2 g, , 2t DE Hl13t0{ 22X

r=2r,,-q;D (i=1,2,...,m)
o=

X=QD +r,2™M

R=r,2™M

ol 2 oty



¢ X =0.100000 =1/2
D =0.110 =3/4 X<D Q=

Extra bit is required

2r.9} DE B| M5t Z A

r=X 0.100 000

21, 01.000 000 set q,=1
add-D 11.010

r,=21,-D 00.010 000

2r, 00.100 000 set q,=0
r,=2r, 01.000 000

2r, 10.000 000 et g;=1
add-D 11.010 e S
1=21,-D 00.010 000

Q=0.101 = 5/8

R=r, 2™ =1/4x2=1/32




o Restoring division
— Quotient bit 28
2r,-DESF I RSEZEY
— 20|H g, =1
— 20|H g, =0, O2| 1 CtA| DE 3l 3=0{of BtCt.

7\ q|:1
0 > 21 4
//—CQ D 2D
restoring
=0
i b Mol B st ol Al
" m H

shift 'm i
i EE= copy 2 2F:m/2 7H




¢ Nonrestoring division
— LHH X7} =71 HHEtE LIHX|E |2l 922 SEA|7|=
Aol 2 mp2 5HX| g3 ohg LIHX| A ASHE stepoll A
ud oot
— 2r, - D< 0 CI= LIHX| A &5 stepoi| A

2(2r;, - D)+D =A4r; , - D\(in nonrestoring division )

shiftstl D& O &t
2[(2r,, - D)+D] -D = In restoring division )

restoring st shiftstxl DE i Cf.
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¢ Nonrestoring division
— quotient bitE &2 ME{SI A S EA = ULE
29| quotient bitE & 28tc}.
qg=/1 if 2r,2 O

_ ==: =0
1 if 2r,<0
I
2D ri:2ri_1'D
0 > 24

] LH= Mol = Q 5k of Al
i | 'm 7
Sl m 7l
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+ X =0.100000 =1/2
D =0.110 =3/4

ry=X 0.100 000
21, 01.000 000 set g, =1
add -D 11.010
r 00.010 000
2r, 00.100 000 set g,=1
add -D 11.010 000
r 11 110 000
2r, 11 100 000 set g,=1
add D 00.110 000
Iy 00.010 000
Q=0.111 = 5/8 R=r,2™=1/4x2=1/32
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+ Nonrestoring division &
— 2’s complement numberz &%+ 0|
- ;= (1 if 2r_; and D have the same sign

1 if 2r,_;and D have opposite signs

+ X =0.100000 =1/2
D=1.010=-3/4

ry=X 0.100 000

21, 01.000 000 set ;=1
add D 11.010

r 00.010 000

2r, 00.100 000 set g,=1
add D 11.010 000

r 11 110 000

2r, 11 100 000 set (=1
add -D 00.110 000

Iy 00.010 000

Q=0.111 = 0.101 =- 5/8 R=r, 2™ = 1/4 x 2 = 1/32
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o OFX| 2} LIH X[ = dividend 2t Z2 &S & 718 of gt} (" Q)

+ X =0.101000 =5/8

D =0.110 =3/4

r=X 0.101 000

21, 01.010000 set q,=1
add -D 11.010

r 00.100 000

2r, 01.000 000 set g,=1
add -D 11.010 000

r 00.010 000

2r, 00.100 000 set 0,=1
add -D 11.010 000

rs 11.110 000 xet 257} ctact
add D 00.110 000

s 00.100 000

Q=10.111

Q. =Q-ulp = 0.110 = 3/4

R=r,2™=1/2x23=1/16
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o OIX|9} LIHX| r £ dividend X2t CIE 25 E J}X|H

correction Z
1. Dividend X2t divisor D7} &2 5352 A

rmc - rm
Qc - Q 'UIp
2. Dividend X2} divisor D7} CIE B 52l A=
rmc - rm
Q. =Q+ulp

o M HEO 9} Sotct2n Hojgte Ac

15



¢ X =1.101000 =-3/8

D =0.110=3/4 =k Q=-1/2, LIH X| 0

r=X 1.101 000

21, 11.010000 set ;=1

add D 00.110

r 00.000 000 zero remainder

2r, 00.000 000 set g,=1

add -D 11.010 000

, 11.010 000

2r, 10.100 000 set g,=1

add D 00.110 000

rs 11.010 000

add D 00.110 000

I 00.000 000
Q=0.111=-3/8 =2t LI XI Dt zero®! 24 S detectol &
Q. =Q-ulp = 0.110 = -1/2 r, At X7t €2 F30[H2lE correction 2 £

(to obtain zero remainder)
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o L2 oM 2’s complement xS = 9

pi:1/2(l+qi)

Q = O'ql"'qm’ d; E{1;1}
otz mapping2 2
Qi = 1 - pi=0
i = — Pi =
Qoil A PE ZH=CE
P=0. pl Py pl E{O’l}
=1

1. Shift left 1 bit
2. Complement MSB
3. Shift 1 into LSB

Ltz oA S0l A bit serial Al 2°s complementS T

= (1- py)-p,...pml

[

0

iffy
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